
Big Idea of the Day--CPI and Inflation

I. The Price Level (CPI) and Real GDP

     A. Price level is the “average” level of prices and is measured by using a price index. 

     B. The consumer price index, or CPI, measures the average level of the prices of goods and services consumed by an urban family.


1. The CPI is calculated by taking the ratio of the current cost of a market basket of goods to the cost of the same market basket of goods in a base year and multiplying by 100.

     C. A current-period basket price index is an alternative price index.  The CPI measures the same basket at both base-period and current prices.  A current-period basket price index uses the current basket of goods and measures them at both base-period and current prices.


1. A current-period basket index is the ratio of the current period’s expenditure to the base period’s value of the basket, multiplied by 100.


2. The current-period basket price index may be less than the CPI depending on the substitutions consumers make when prices change.

     D. Real GDP is valued in the prices of a base year.


1. To calculate real GDP, the GDP in a base year is used with a chain-weighted output index to calculate the growth rate of real GDP from one year to the next.  This requires the following three steps:



a) First, this year’s and last year’s GDP are valued at last year’s prices and the ratio of this year to last year’s GDP is computed. 



b) Second, this year’s and last year’s GDP are valued at this year’s prices and the ratio of this year to last year’s GDP is computed.



c) The geometric mean of the two ratios (the square root of one ratio times the other) is calculated. The resulting mean is the factor by which real GDP grew from last year to this year.

     E. Problems w/ CPI


1. There is a delay in between reporting data and publishing results.


2. There are frequent changes to the basket, i.e. due to technological advances.

II. GDP Deflator

     A. The GDP deflator measures the average level of prices of the goods and services included in GDP.


1. The GDP deflator is calculated as 
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2. Nominal GDP is calculated using the current year prices, so the goods and services produced are valued at current year prices.


3. Real GDP is GDP in a base year (currently 1992) scaled up by the growth in real GDP since the base year.


4. Nominal GDP increases because production increases and because prices rise. Using the GDP deflator we deflate nominal GDP to get real GDP.

III.
Measuring Inflation

     A. The main purpose of the CPI is to measure inflation.  The inflation rate is the percentage change in the price level from one year to the next.  The inflation rate may be calculated using the CPI or alternatively, using the GDP deflator.  


1. Using the CPI to calculate inflation shows more fluctuations than using the GDP deflator.


2. Both measures may overstate inflation, particularly the CPI.

     B. The CPI may overstate the true inflation for four reasons: new goods bias, quality change bias, commodity substitution bias, and outlet substitution bias.


1. New goods bias: New goods that were not available in the base year appear and, if they are more expensive than the goods they replace, the price level is biased higher.


2. Quality change bias: Quality improvements generally are neglected, so quality improvements that lead to price hikes are considered purely inflationary.


3. Commodity substitution bias: The market basket of goods used in calculating the CPI is fixed and does not take into account consumers’ substitutions away from goods whose relative prices increase.


4. Outlet substitution bias: When prices rises, people switch to shopping at cheaper stores, but the CPI, as measured, does not take account of this outlet substitution.

     C. A Congressional Advisory Commission estimated that the CPI overstates inflation by 1.1 percentage points a year.


1. The Bureau of Labor Statistics has decided to undertake consumer spending survey are more frequent intervals and revise the CPI basket every 2 years to reduce the CPI bias.

     D. The bias in the CPI distorts private contracts, increases government outlays (close to a third of government expenditures are linked to the CPI), and biases estimates of real earnings.

     E. While in theory the GDP deflator does not suffer from the biases noted above, in practice it is subject to some of the same shortcomings.
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